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Boat & Stream

1. A boat takes 19 hours for travelling
downstream from point A to point B and
coming back to a point C which is at midway
between A and B. If the velocity of the stream
is 4 kmph and the speed of the boat in still
water is 14 km/h, what is the distance
between A and B?

,d uko fcanq A ls fcanq B rd /kjk ds vuqdwy ;k=kk
djus vkSj fcanq C ij okil vkus esa 19 ?kaVs dk le; ysrh
gS] tks fcanq A vkSj B ds chp esa gSA ;fn /kjk dh xfr 4
fdeh çfr ?kaVs gS vkSj fLFkj ty esa uko dh xfr 14
fdeh@?kaVk gS] A vkSj B ds chp dh nwjh fdruh gS\
(a) 180 km (b) 160 km

(c) 140 km (d) 120 km

2. Ajay kumar can row a boat d km upstream and
the same distance downstream in 5 hours 15
minutes. Also, he can row the boat 2d km
upstream in 7 hours. How long will it take to row
the same distance 2d km downstream for ajay?

vt; dqekj 5 ?kaVs 15 feuV esa ,d uko dks /kjk ds
çfrdwy d fdeh vkSj /kjk ds vuqdwy leku nwjh r; dj
ldrk gSA lkFk gh] og 7 ?kaVs esa uko dks /kjk ds çfrdwy
2d fdeh rd pyk ldrk gSA vt; dks leku nwjh 2d
fdeh /kjk ds vuqdwy r; djus esa fdruk le; yxsxk\
(a) 4 hrs 10 min  (b) 3 hrs 15 min

(c) 3 hrs 30 min  (d) 4 hrs 1 min

3. A boat whose speed in still water is 9 kmph,
goes 12 km downstream and comes back in 3
hrs. Find the speed of the stream?

,d uko ftldh 'kkar ty esa xfr 9 fdeh çfr ?kaVs gS]
/kjk ds vuqdwy 12 fdeh tkrh gS vkSj 3 ?kaVs esa okil
vkrh gSA /kjk dh xfr Kkr dhft;s\
(a) 1 km/h (b) 3 km/h

(c) 5 km/h (d) 4 km/h

4. A steamer moves with a speed of 4.5 km/h in
still water to a certain upstream point and
comes back to the starting point in a river
which flows at 1.5 km/h The average speed of
steamer for the total journey is.

,d LVhej fLFkj ikuh esa 4-5 fdeh@?kaVk dh xfr ls /kjk
ds çfrdwy ,d fuf'pr fcanq rd tkrk gS vkSj 1-5
fdeh@?kaVk dh xfr ls cgus okyh unh esa çkjafHkd fcanq ij
okil vkrk gSA iwjh ;k=kk ds fy, LVhej dh vkSlr xfr gSA
(a) 12 km/h (b) 10 km/h

(c) 6 km/h (d) 4 km/h

5. A boat goes 4 km upstream and 4 km
downstream in 1 hour. The same boat goes 5
km downstream and 3 km upstream in 55
minutes. What is the speed (in km/hr) of boat
in still water?

,d uko 1 ?kaVs esa /kjk ds çfrdwy 4 fdeh vkSj /kjk ds
vuqdwy 4 fdeh tkrh gSA ogh uko 55 feuV esa /kjk ds
vuqdwy 5 fdeh vkSj /kjk ds çfrdwy 3 fdeh tkrh gSA
'kkar ty esa uko dh xfr (fdeh@?kaVk esa) D;k gS\
(a) 6.5 (b) 7.75

(c) 9 (d) 10.5

6. Mahesh rows to the place 80 km away and back
in 20 hours. He finds that he can row 8 km
downstream in the same time as 4 km upstream.
The speed of the boat in still water is.

egs'k uko ls 80 fdeh dh nwjh r; djrk gS vkSj 20 ?kaVs
esa okil vkrk gSA og ikrk gS fd og /kjk ds vuqdwy 8
fdeh dh nwjh mrus gh le; esa r; dj ldrk gS ftruh
fd /kjk ds çfrdwy 4 fdeh dh nwjh r; djus esaA fLFkj
ty esa uko dh xfr gSA
(a) 9 km/h (b) 7 km/h

(c) 2 km/h (d) 5 km/h

7. A boat can travel 20 km downstream in 24
min. The ratio of the speed of the boat in still
water to the speed of the stream is 4 : 1. How
much time will the boat take to cover 15 km
upstream?

,d uko 24 feuV esa /kjk ds vuqdwy 20 fdeh dh ;k=kk
dj ldrh gSA fLFkj ty esa uko dh xfr dk /kjk dh xfr
ls vuqikr 4 % 1 gSA uko dks /kjk ds çfrdwy 15 fdeh
dh nwjh r; djus esa fdruk le; yxsxk\
(a) 20 mins (b) 22 mins

(c) 25 mins (d) 30 mins

8. If the upstream speed of a boat is 50% less
than the downstream speed of the boat and if
a object is thrown in the river it covers 100m
in 50 sec, then how much distance boat can
cover in still water in 5 hours?

;fn ,d uko dh /kjk ds çfrdwy xfr uko dh /kjk ds
vuqdwy xfr ls 50» de gS vkSj ;fn dksbZ oLrq unh esa iQsadh
tkrh gS rks og 50 lsdaM esa 100 ehVj dh nwjh r; djrh gS]
rks 'kkar ty esa uko 5 ?kaVs esa fdruh nwjh r; dj ldrh gS\
(a) 900 km (b) 100 km

(c) 120 km (d) 108 km

Boat & Stream/uko vkSj /kjk
(Practice Sheet With Solution)
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Boat & Stream

9. The ratio of the speed of boat in still water to
the speed of stream is 16 : 5. A boat goes 16.5
km in 45 minute upstream, find the time
taken by boat to cover the distance of 17.5 km
downstream.

'kkar ty esa uko dh xfr dk /kjk dh xfr ls vuqikr 16 % 5
gSA ,d uko /kjk ds çfrdwy 45 feuV esa 16-5 fdeh
tkrh gS] /kjk ds vuqdwy 17-5 fdeh dh nwjh r; djus esa
uko }kjk fy;k x;k le; Kkr dhft,A
(a) 30 minutes (b) 25 minutes

(c) 50 minutes (d) 45 minutes

10. A boat covers 24 km upstream and 36 km
downstream in 6 hours while it covers 36

km upstream and 24 km downstream in 
1

6
2

 hours. The velocity of the current is:

,d uko /kjk ds çfrdwy 24 fdeh vkSj /kjk ds vuqdwy
36 fdeh 6 ?kaVs esa r; djrh gS tcfd ;g 36 fdeh /kjk

ds çfrdwy vkSj 24 fdeh /kjk ds vuqdwy 1
6

2
 ?kaVs esa

r; djrh gSA /kjk dk osx gS%
(a) 1 km/hr (b) 1.5 km/hr

(c) 2 km/hr (d) 2.5 km/h

11. In a fixed time, a boy swims double the distance
along the current that he swims against the
current. If the speed of the current is 3 km/
hr, the speed of the boy in still water is.

,d fuf'pr le; esa] ,d yM+dk /kjk ds lkFk nqxquh nwjh
rSjrk gS ftruh nwjh og /kjk ds foijhr rSjrk gSA ;fn /kjk
dh xfr 3 fdeh@?kaVk gS] rks fLFkj ty esa yM+ds dh xfr gSA
(a) 6 km/hr (b) 9 km/hr

(c) 10 km/hr (d) 12 km/hr

12. The speed of the stream is 4 km/h. The time
taken by a boat to cover a certain distance
upstream is equal to 2.5 of the time taken by
it to cover the same distance downstream.
What is the speed (in km/h) of the boat in still
water?

/kjk dh xfr 4 fdeh@?kaVk gSA ,d uko }kjk /kjk ds çfrdwy
,d fuf'pr nwjh r; djus esa fy;k x;k le;] /kjk ds vuqdwy
leku nwjh r; djus esa fy, x, le; ds 2-5 ds cjkcj gSA
'kkar ty esa uko dh xfr (fdeh@?kaVk esa) D;k gS\
(a) 8 (b) 10

(c)
1

7
2

(d)
1

9
3

13. A man takes 15 minutes to row 16 km

downstream, which is 25% less than the time

he takes to row the same distance upstream.

How many kilometres can the man row in an

hour in still water? (Rounded off to nearest

whole number)

,d O;fÙkQ dks /kjk dh fn'kk esa 16 km tkus esa 15 feuV
yxrs gSa] tks /kjk ds foijhr fn'kk esa leku nwjh r; djus esa
fy, x, le; ls 25» de gSA O;fÙkQ fLFkj ty esa ,d ?kaVs esa
fdrus fdyksehVj uko pyk ldrk gS\ (fudVre iw.kZ la[;k
rd iw.kkZafdr)

CGL PRE, 14/07/2023 (Shift-4)

(a) 56 (b) 60

(c) 58 (d) 54

14. The speed of boat a down the stream is 125%

of the speed in still water. If the boat takes

30 minutes to cover 20 km in still water, then

how much time (in hours) will it take to cover

15 km upstream?

/kjk dh fn'kk esa uko dh pky] fLFkj ty esa uko dh
pky dh 125» gSA ;fn fLFkj ty esa uko dks 20 km dh
nwjh r; djus esa 30 feuV dk le; yxrk gS] rks crkb,
fd mls /kjk ds foijhr fn'kk esa 15 km dh nwjh r;
djus esa fdruk le; (?kaVksa esa) yxsxk\

SSC CGL TIER I 19/07/2023 (Shift-03)

(a) 
3

4
(b) 

1

2

(c) 
1

4
(d) 1

15. A boat can go 60 km downstream and 40 km

upstream in 12 hours 30 minutes. It can go 84

km downstream and 63 km upstream in 18

hours 54 minutes. What is the speed (in km/h,

to the nearest integer) of the boat in still water?

,d uko 12 ?kaVs 30 feuV esa /kjk ds vuqdwy 60 km

vkSj /kjk ds çfrdwy 40 km tk ldrh gSA ;g 18 ?kaVs
54 feuV esa /kjk ds vuqdwy 84 km vkSj /kjk ds çfrdwy
63 km tk ldrh gSA 'kkar ty esa uko dh pky ( km/

h esa] fudVre iw.kkZad rd) fdruh gS\

SSC CGL TIER I 20/07/2023 (Shift-01)

(a) 7 (b) 8

(c) 9 (d) 10

16. A boat's speed in still water is 45 km/h, while

the river is flowing at a speed of 15 km/h. The

time taken to cover a certain distance

upstream is 9 h more than the time taken to

cover the same distance downstream. Find the

distance (in km).

'kkar ty esa ,d uko dh pky 45 km/h gS] tcfd unh
15 km/h dh pky ls cg jgh gSA /kjk ds foijhr fn'kk
esa ,d fuf'pr nwjh r; djus esa yxk le;] /kjk ds fn'kk
esa leku nwjh r; djus esa yxs le; ls 9 ?kaVs vf/d gSA
nwjh (km esa) dh x.kuk djsaA

SSC CGL TIER I 20/07/2023 (Shift-04)
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Boat & Stream

(a) 540 (b) 320

(c) 480 (d) 450

17. A boat can cover 120 km upstream and back

in a total of 30 hours, and 25 km upstream

and 40 km downstream in a total of 7 hours.

How much distance will the boat cover in 16

hours in still water?

,d uko }kjk /kjk dh foijhr fn'kk esa 120 km tkus vkSj
okil vkus esa dqy 30 ?kaVs dk le; yxrk gS] vkSj ml uko
dks /kjk dh foijhr fn'kk esa 25 km rFkk /kjk dh fn'kk esa
40 km tkus esa dqy 7 ?kaVs dk le; yxrk gSA og uko 'kkar
ty esa 16 ?kaVs esa fdruh nwjh r; dj ysxh\

 SSC CGL (PRE) 24/07/2023 (Shift-1)

(a) 200 km (b) 180 km

(c) 175 km (d) 225 km

18. A boat covers a distance of 80 km downstream in

8 h while it takes 10 h to cover the same distance

upstream. What is the speed (in km/h) of the boat

in still water?

,d uko /kjk dh fn'kk esa 80 km dh nwjh 8 ?kaVs esa r;
djrh gS] tcfd /kjk dh foijhr fn'kk esa leku nwjh r;
djus esa 10 ?kaVs dk le; ysrh gSA 'kkar ty esa uko dh pky
(km/h esa) dh x.kuk djsaA

SSC CGL PRE, 24/07/2023 (Shift-4)

(a) 18 (b) 12

(c) 9 (d) 16

19. Dharmendra can row 80 km upstream and 110

km downstream in 13 hours. Also, he can row

60 km upstream and 88 km downstream in 10

hours. What is the speed (in km/h) of the

current?

/eZsanz 13 ?kaVs esa /kjk ds foijhr fn'kk esa 80 km vkSj /kjk
ds fn'kk esa 110 km uko pyk ldrk gSA lkFk gh] og 10
?kaVs esa /kjk ds foijhr fn'kk esa 60 km vkSj /kjk ds fn'kk
esa 88 km uko pyk ldrk gSA /kjk dh pky (km/h esa)
Kkr djsaA

SSC CGL PRE, 24/07/2023 (Shift-4)

(a) 6 (b) 16

(c) 10 (d) 12

20. A boat covers a distance of 12 km in 1 hour

upstream and in 45 minutes downstream. Find

the speed of the boat and the stream (in km/h).

,d uko /kjk ds çfrdwy 1 ?kaVs esa vkSj èkkjk ds vuqdwy 45
feuV esa 12 km dh nwjh r; djrh gSA uko vkSj /kjk dh
pky (km/h esa) Kkr dhft, A

 SSC CGL (PRE) 25/07/2023 (Shift-2)

(a) 16 : 4 (b) 16 ; 2

(c) 14 ;  2 (d) 12 ; 4

21. A boat takes 4 hours to travel from P to Q

downstream and from Q to P upstream. What

is the speed (in km/h) of the boat in still

water, if the distance between P to Q is 6 km

and speed of the river is 2 km/h?

,d uko /kjk ds vuqdwy P ls Q rd vkSj /kjk ds izfrdwy
Q ls P rd tkus esa 4 ?kaVs dk le; ysrh gSA ;fn P ls Q ds
chp dh nwjh 6 fdeh- gS vkSj unh ds izokg dh xfr 2

fdeh@?kaVk gS] rks 'kkar ty esa uko dh pky (fdeh@?kaVk esa)
fdruh gksxh\

ICAR Mains, 08/07/2023 (Shift-1)

(a) 3 (b) 4

(c) 6 (d) 2

22. Speed of stream is 4 km/hr and the speed of

the boat is 11 km/hr. In how much time will

the boat cover a distance of 21 km upstream

and 45 km downstream?

/kjk dh pky 4 fd-eh-@?kaVk gS vkSj uko dh pky 11 fd-eh-
@?kaVk gSA uko /kjk ds izfrdwy 21 fd-eh- vkSj /kjk ds
vuqdwy 45 fd-eh- dh nwjh fdrus le; esa r; djsxh\

SSC CHSL 13/03/2023 (Shift-01)

(a) 6 hours (b) 3 hours

(c) 4 hours (d) 7 hours

23. A boat can travel 104 km downstream in 8

hours. If the speed of the stream is 2 km/h,

then find in what time will it be able to cover

13 km upstream?

,d uko 8 ?kaVs esa /kjk dh fn'kk eas 104 fdeh dh nwjh
r; dj ldrh gSA ;fn /kjk dh pky 2 fdeh@?kaVk gS]
rks Kkr dhft, fd og uko /kjk dh foijhr fn'kk esa
13 fdeh dh nwjh fdrus le; esa r; dj ik,xh\

SSC CPO 09/11/2022 (Shift-02)

(a)
2

2  hours
3

(b)
4

1  hours
9

(c)
1

2  hours
2

(d)
2

1  hours
3

24. A boat can go 40 km downstream and 25 km

upstream in 7 hours 30 minutes. It can go

48 km downstream and 36 km upstram in 10

hours. What is the speed (in km/h) of the boat

in still water?

,d uko 7 ?kaVs 30 feuV esa 40 fdeh /kjk dh fn'kk esa
vkSj 25 fdeh /kjk dh foijhr fn'kk esa tk ldrh gSA
;g 10 ?kaV esa 48 fdeh /kjk dh fn'kk esa vkSj 36
fdeh /kjk dh foijhr fn'kk esa tk ldrh gSA 'kkar ty
esa uko dh pky (fdeh@?kaVk esa) fdruh gksxh\

SSC CPO 09/11/2022 (Shift-03)
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Boat & Stream

(a) 6 (b) 12

(c) 9 (d) 15

25. The speed of a boat in still water is thrice

the speed of the stream. If the boat takes 15.5

sec to go to a certain place downstream, then

find the additional time required to cover the

same distance travelling upstream.

'kkar ty esa ,d uko dh pky] /kjk dh pky dh rhu
xquh gSA ;fn uko /kjk dh fn'kk esa fuf'pr LFkku rd
tkus esa 15-5 lsadM dk le; ysrh gS] rks /kjk dh foijhr
fn'kk esa ;k=kk djrs gq, mruh gh nwjh r; djus ds fy,
vko';d vfrfjDr le; Kkr dhft,A

SSC CPO 11/11/2022 (Shift-02)

(a) 15.5 sec (b) 29 sec

(c) 31 sec (d) 35 sec

26. A man can row at a speed of x km/hr in still

water. If in a stream which is flowing at a speed

of y km/hr it takes him z hours to row to a

place and back, then what is the distance.

between the two places?

,d O;fÙkQ Bgjs gq, ikuh esa x fdeh @?kaVk dh pky ls uko
•s ldrk gSA ;fn ,d /kjk (unh)] tks y fdeh@?kaVk dh
xfr ls cg jgh gS] esa ,d LFkku ls fdlh nwljs LFkku rd uko
ls tkus vkSj okil vkus (ykSVus esa) ml O;fÙkQ dks z ?kaVs
yxrs gSa] rks nksuksa LFkkuksa ds chp dh nwjh D;k gS\

UPSC CDS-1 2018

(a)
 2 2z x – y

2y
(b)

 2 2z x – y

2x

(c)
 2 2x – y

2zx
(d)

 2 2z x – y

x

27. A man rows downstream 32 km and 14 km

upstream, and he takes 6 hours to cover each

distance. What is the speed of the current?

,d O;fDr 32 fdeh /kjk dh fn'kk esa rFkk 14 fdeh /kjk
dh foijhr fn'kk esa uko [ksrk gS vkSj mls izR;sd nwjh dks r;
djus esa 6 ?kaVs yxrs gSaA /kjk dh pky D;k gS\

UPSC CDS 2015 (1)

(a) 0.5 km/hr (b) 1 km/hr

(c) 1.5 km/hr (d) 2 km/hr

1.(a) 2.(c) 3.(b) 4.(d) 5.(c) 6.(a) 7.(d) 8.(d) 9.(b) 10.(c)

11.(b) 12.(d) 13.(a) 14.(b) 15.(c) 16.(a) 17.(a) 18.(c) 19.(a) 20.(c)

21.(b) 22.(a) 23.(b) 24.(c) 25.(a) 26.(b) 27.(c)

Answer Key
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Boat & Stream

SOLUTIONS
1. (a)

AB = 2BC

downstream = 14 + 4 = 18 km/h

upstream = 14 – 4 = 10 km/h

18 × t = 2 × 10 (19 – t)

t = 10 h

Distance = 18 × 10 = 180 km

2. (c)

2d km covered in upstream = 7 hours

d km covered in upstream =
7

2
= 3 hours 30

min

 d km covered in downstream =

5h 15min – 3h 30min = 1h 45min

2d km covered in downstream = 3h 30 min

3. (b)

Let speed of stream = x

12 12
3

9 9 –
 

 x x

by option x = 3 km/h

 speed of stream = 3 km/h

4. (d)

downstream = 4.5 + 1.5 = 6 km/h

upstream = 4.5 – 1.5 = 3 km/h

Average speed =
2 6 3

4 km /h
9

 


5. (c)

4 4
1

D U
 

5 5 5

D U 4
  ........(i)

5 3 11

D U 12
  ........(ii)

After solving eqn. (i) and (ii)

U = 6 km/h, D = 12 km/h

 Speed of boat =
12 6

2


= 9 km/h

6. (a)

Let speed of boat = B

speed of stream = C

8 4

B C B – C




2(B – C) = B + C

B 3

C 2


80 80
20

3 3x – x
 

x x

20 40
20 

x x

60
3

20
 x

 speed of boat =  3x = 9 km/h

7. (d)

4x + x = 5x =
20

60
24



 x = 10

Upstream = 4x – x = 3x = 3 × 10 = 30 km/h

Time = 
15

h 30 min
30



8. (d)

Downstream : Upstream

Speed     2     :       1

speed of current = 
1

2
x

1

2
x  

100
2m/s

50
 

x = 4 m/s

 Speed of boat
3x

6 m/s
2

 

 Distance 
18

6 5
5

   = 108 km

9. (d)

Upstream = 16x – 5x = 11x

1 6 5 6 0
1 1

4 5 1 0





x

x = 2
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Boat & Stream

Downstream = 16x + 5x = 21x  = 42 km/h

Time = 
17.5 5

h 25min
42 12

 

10. (c)

24 36
6

U D
 

36 24 13

U D 2
 

After solving, D = 12km/h, U = 8 km/h

Velocity of current = 
12 – 8

2 km/h
2



11. (b)

2D D

B C B – C




B 3

C 1


 Speed of boat = 3x = 3 × 3 = 9 km/h

12. (d)

D D 5

B – C B C 2
 



2(B+C) = 5(B – C)

B 7

C 3


3x  4 km/h

7x 
4 1

7 9 km/h
3 3
 

13. (a)

Downstream = 
16

60 64 km/h
15

 

Time taken by a person less 25% in upstream

Actual time = 
15

4 20 min
3

 

upstream =
16

60 48 km/h
20

 

speed of boat = 
64 48 112

56 km/h
2 2


 

14. (b)

Downstream 5

speed of boat 4


4x =
20 60

40 km /h
30




Downstream = 5x = 50 km/h

speed of current water = 50 – 40 = 10 km/h

Time = 
15 15 1

h
40 – 10 30 2

 

15. (c)

60 40 25

D U 2
 

12 8 5

D U 2
 

84 56 35

D U 2
  .......(i)

84 63 189

D U 10
  ......(ii)

After solving eqn. (i) and (ii)

U = 5 km/h

D = 
40

km/h
3

speed of boat 

40
5

3 = 9 km/h
2




16. (a)

Distance 
 2 2T B – S

2S
  

 2 29 45 – 15

2 15




9 60 30
540 km

30

 
 

17. (a)

120 120
30

D U
 

 
40 40

10
D U

   ......(i)

40 25
7

D U
   ......(ii)

After solving eqn. (i) and (ii)

U = 5 km/h, D = 20 km/h

25
B km/h

2
 

Distance
25

×16 = 200 km
2


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Boat & Stream

18. (c)

Downstream 
80

10 km/h
8

 

Upstream 
80

8 km/h
10

 

speed of boat 
10 8

9 km/h
2


 

19. (a)

88 60
10

D U
 

220 150
25

D U
  .......(i)

110 80
13

D U
 

220 160
26

D U
  .......(ii)

After solving eqn. (i) and (ii)
U = 10 km/h, D = 22 km/h
Speed of current water

22 – 10
6 km/h

2
 

20. (c)

Downstream 
12 60

16 km/h
45


 

Upstream = 
12

12 km/h
1

 

Speed of boat = 
28

14 km/h
2



Speed of stream = 
4

2 km/h
2



21. (b)

 2 2T B – S
Distance

2B


 24 B – 4
6

2B


3B = B2 – 4
by option,
B = 4 km/h

22. (a)
Downstream = 11 + 4 = 15 km/h
Upstream = 11 – 4 = 7 km/h

Total time 
45 21

6h
15 7

  

23. (b)
Let the speed of boat in still water = x km/h

Downstream speed of boat 
104

2
8

  x

 x + 2 = 13 km/h
       x = 11 km/h
Speed of boat in upstream
= (11 – 2) = 9 km/h
Time take by the boat to cover the distance

of 13 km in upstream 
13

km/h
9

  
4

=1  km/h
9

24. (c)
Let the speed of the boat in still water
= x km/h
Speed of stream = y km/h
CASE-I:

 
40 25

7.5 ............ 1
x y x – y

  


CASE- II:

 
48 36

10 ............ 2
y – y

  
x x

On solving (1) and (2) we get,
x = 9, y = 3
Hence, Speed of boat = 9 km/h

25. (a)
Let the speed of stream be x m/s and speed of
boat be 3x m/s.
Speed of boat in downstream = x + 3x

= 4x m/s
Distance covered = 4x × 15.5 = 62x m
Speed of boat in upstream = 3x – x = 2x m/s
Time taken to cover 62x m in upstream

=
62

31sec
2


x

x

Additional time required to travel  upstream
= 31 – 15.5 = 15.5 sec

26. (b)

Distance = 
 2 2z – y

2

x

x

27. (c)

Downstream = 
32

km/h
6

Upstream = 
14

km/h
6

Speed of current water 

32 14
–

6 6
2

  = 1.5 km/h
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